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255.1073x10"%-3.10"3x(5+4,1)x1073 -3 -1 R
r= (3,2—4,1)x1073 = x5 ~ 2.107° mol.L 6.0
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" [C¢HsCOOH]; X [CH3C00~];

wiogll Jeazll Jlasiwly

IKL,JL».L?

p 2.1073 2 ( 2 )2 4
= = = =
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n+ 233U — asr + 129xe + 2in ST Soqill cuiail dsleo

L 235U 0 my =1g ylnuiiil oo dxslil d&slall |AEY| wlu>-2
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|AE| = 0,198 x 931,5MeV = 185 MeV
|AE| = 185 x 1,6.10713 = 2,96 .10
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2349935 x 166.102% X 29610711 = |AE,| = 7,57.10%°]

|AE,| = |AE[ = |AE,| =

m(%3U) U)
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LSS Eppoton 48Uall 53 (eigall cuwiss Cus §)U] dls e auod lgils « (gigs Il dwlwlI s e 8)d yoymii leic

En = Epnoton + E1 - Wby Epnoton = En — Eq
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cusisdll i 8yl yaiai ¥ 3] olbll hbxall (e
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